nstallationsanleitung
nstallation Instruction

nstruction d'installation

SKU:NB36P292054(90x200)

Page 1 0f 24

(P




/DE:Vor dem Einbau die Schrauben in die Locher stecken und\
festziehen, aber nicht bis 100%, 70% bis 80% anziehen reicht
aus. Schlielllich, nachdem alle Schrauben installiert sind,

ziehen Sie alle Schrauben auf 100%.Wenn Sie auf diese
Probleme stol3en, wie z. B. Fehlausrichtung der Locher oder
Unfahigkeit, bestimmte Teile zu installieren, uberprifen Sie

bitte, ob die Schrauben korrekt verwendet werden und passen

\Sie die Dichtigkeit der Schrauben an. J

UK:Before installation, insert the screws into the holes and
tighten them, but do not tighten them to 100%, 70% to 80% is
sufficient. Finally, after all screws are installed, tighten all
screws to 100%.If you encounter these issues, such as if the
holes cannot be aligned or some parts cannot be installed,
please check if the screws are used correctly and adjust the
tightness of the screws.

/FR:Insérer la vis dans le trou avant la fin de I'assemblage, \
serrer la vis, mais ne pas serrer a 100%, 70% ~ 80% est
correct. Enfin, une fois que toutes les vis sont bien serrées,
toutes les vis sont serrées a 100%.Si vous rencontrez ces
problemes, par exemple si les trous ne sont pas alignés ou si

certaines pieces ne peuvent pas étre montées, vérifiez que les
vis sont utilisées correctement et Ajustez leur serrage.

o /

Page 2 0f 24




IMPORTANT FOR GAS LIFT BEDS&MAINTAINCE

ﬁPlease place the mattress on top of the bed frame. \

® Please do not pull on the strap handles.

® Please press heavily to release the compressed gas.
Periodically check all screw & fixings to ensure they are secure.
When moving your product, carefully lift into place.
Wipe clean with a slightly damp cloth- please do not use abrasive chemicals or bleach.

Do NOT allow children near the lift base when operating the mechanism.
Do NOT stand inside the bed or the internal storage base.

°
°
°
® Do NOT allow children to operate the lift mechanism.
°
°
°

Do NOT overload the internal storage base.
kDO NOT jump on the product or any of its parts. /

WICHTIG FUR GASLIFT-BETTEN&WARTUNG

® Bitte legen Sie die Matratze oben auf den Bettrahmen. \
® Bitte ziehen Sie nicht an den Gurtgriffen.

® Bitte driicken Sie kraftig, um das komprimierte Gas freizusetzen.

® Uberpriifen Sie regelmiRig alle Schrauben und Befestigungen, um sicherzustellen, dass sie sicher sind.
® Wenn Sie lhr Produkt bewegen, heben Sie es vorsichtig an seinen Platz.

® Mit einem leicht feuchten Tuch abwischen - bitte keine scheuernden Chemikalien oder Bleichmittel
verwenden.

® Erlauben Sie Kindern NICHT, den Hebemechanismus zu bedienen.

® Lassen Sie Kinder NICHT in die Nahe des Liftsockels, wenn Sie den Mechanismus bedienen.

® Stellen Sie sich NICHT in das Bett oder in die Innenablage.

® Uberlasten Sie den internen Liftsockel NICHT.
® Springen Sie NICHT auf das Produkt oder eines seiner Teile. J

IMPORTANT POUR LES LITS A RELEVAGE DE GAZ& MAINTENANCE

® Veuillez placer le matelas sur le dessus du cadre de lit. \
® Ne tirez pas sur les poignées de la sangle.

N

® Appuyez fortement pour libérer le gaz comprimé.
Vérifiez régulierement que toutes les vis et fixations sont bien en place.

Lorsque vous déplacez votre produit, soulevez-le avec précaution pour le mettre en place.
Nettoyez avec un chiffon légérement humide - n'utilisez pas de produits chimiques abrasifs ou d'eau de

Javel.
Ne laissez pas les enfants utiliser le mécanisme de levage.

Ne laissez pas les enfants s'approcher de la base de levage lorsqu'ils actionnent le mécanisme.
Ne vous tenez PAS a l'intérieur du lit ou de la base de stockage interne.

Ne surchargez pas la base de stockage interne.
Ne pas sauter sur le produit ou I'une de ses parties. /

<

Page 3 0f 24




Italiano

IMPORTANTE PER | LETTI CON SOLLEVAMENTO A GAS E LA MANUTENZION

® Non tirare

® Premere con forza per rilasciare il gas compresso.

® Controllare periodicamente tutte le viti e i fissaggi per assicurarsi che siano saldi.

® Quando si sposta il prodotto, sollevarlo con cautela.

® Pulire con un panno leggermente umido, senza usare prodotti chimici abrasivi o candeggina.

® NON permettere ai bambini di azionare il meccanismo di sollevamento.

® NON permettere ai bambini di avvicinarsi alla base di sollevamento quando si aziona il meccanismo.

® NON sostare all'interno del letto o della base di contenimento interna.

® NON sovraccaricare la base di contenimento interna.
® NON saltare sul prodotto o sulle sue parti. /

ﬂosizionare il materasso sopra la struttura del letto. \

le maniglie della cinghia.

IMPORTANTE PARA LAS CAMAS ELEVADORAS DE GAS&MANTENIMIENTO

® No tire de

® Comprueb

® NO permit
® NO permit

® Presione con fuerza para liberar el gas comprimido.

® Al mover el producto, levantelo con cuidado para colocarlo en su sitio.
® Limpie con un paio ligeramente humedecido; no utilice productos quimicos abrasivos ni lejia.

® NO se ponga de pie dentro de la cama o de la base de almacenamiento interna.
® NO sobrecargue el somier.
® NO salte sobre el producto ni sobre ninguna de sus piezas. /

® Coloque el colchdn sobre el somier.

las asas de la correa.

e periédicamente que todos los tornillos y fijaciones estén bien sujetos.

a que los niflos accionen el mecanismo de elevacion.
a que los nifios se acerquen a la base elevadora cuando accionen el mecanismo.

Page 4 0f 24



]

'(G@@@G@G@G@@Gﬁ@@@@(@

M6x14 | M6x70
X 4 X2 X 1

Page 5 0f 24




N636P292054

M

OoQOO0O000O

00000000
o0Oo00000

X 1

Page 6 Of 24




C
M8x25
x4

DE:Bitte beachten Sie, dass die Formen der Schrauben A und C und D ahnlich
sind. Bitte installieren Sie entsprechend der Anleitung und unterscheiden Sie sie!

UK:Please note that the shapes of screws A and C and D are Esimilar.
Please install according to the instructions and distinguish them!

FR:Notez que les formes des vis A et C et D sont similaires.Suivez les instructions
pour les installer et les différencier!

W

(@

&
I J
M6x20 M6x14 | M6x70
X8 x4 X2

DE:Bitte beachten Sie, dass die Formen der Schrauben B und H und | und J
ahnlich sind. Bitte installieren Sie entsprechend der Anleitung und unterscheiden Sie
sie!

UK:Please note that the shapes of screws B and H and | and J are Esimilar.
Please install according to the instructions and distinguish them!

FR:Notez que les formes des vis B et H et | et J sont similaires.Suivez les
instructions pour les installer et les différencier!

Page 7 0f 24




Step 1:

@)'»)»»)»)»)»:»)»)»)1)»)))1)»:»)

@ M6x38
X2

)

)

8x20

8x25

6x20

Page 8 0f 24




Ste p 2 . Q)

D M8x20
x14
0
SH6x38
0

(A) ¥ B)Vi8x32

Page 9 0f 24




Ste p 3 . (o)JID

@ m8x20
UK:Part 5 should be 185mm from the edge of the panel =
DE:Teil 5 sollte 185 mm von der Plattenkante entfernt sein
FR:La partie 5 doit étre @ 185mm dubord de la planche 0
B x38

A:UK:Installation distance
DE:Teil 5 sollte 185 mm von
der Plattenkante entfernt sein
FR:Plan de Montage

/\:UK:Installation distance

DE:Teil 5 sollte 185 mm von

der Plattenkante entfernt sein
FR:Plan de Montage




UK:Part 5 should be 55mm from the edge of the panel

Step 4: DE:Teil 5 sollte 55 mm von der Plattenkante entfernt sein
FR:La partie 5 doit etre @ 55mm du le bord de la plaque doit étre retiré

)

@ M8x32
x8

:UK:Installation distance
ADE:TeiI 5 sollte 55 mm von
der Plattenkante entfernt sein
FR:Plan de Montage

55r|nm

A:UK:InstalIation distance
DE:Teil 5 sollte 55 mm von
der Plattenkante entfernt sein
FR:Plan de Montage




x4

(©)HED

@ M6x20
x4

Q)
Ste p 5 : ® m8x25

Q
x20

Q
x38

(o) D

@ M6x20
x4

Page 12 0f 24




Qmmn»

3X12 x3

Page 13 0f 24




Step 8:

Please string the thread
to the elastic band.

(Bitte string der Faden
zum Gummizug Band.)
(S’il vous plait string Le fil
Vers I'élastique Bande.)

Page 14 0f 24




Step 10:

NOTE: Do Not Overtighten |

0

Ox4

HINWEIS: Ziehen Sie die I
Schrauben nicht so fest an

Attention : Ne pas trop
serrer les vis

Page 15 0f 24




Step 12:

Page 16 Of 24




Step 13:

Page 17 0f 24




UK:When lowering the slat unit for the first time, take care to make sure it does not rub
unevenly on the inside face of the side rails. If it does, the bed has been assembled slightly
out of square. This can be rectified by moving the foot end of the bed slightly to the left or
right whilst leaving the headend stationary.

DE:Der Lattenrost sollte beim ersten Absenken nicht an der Innenseite des Bettrahmens
reiben. Wenn dies der Fall ist, bedeutet dies, dass das Bett schief montiert wurde. In diesem
Fall halten Sie das Kopfteil fest und verschieben Sie das Ful3teil leicht nach links oder rechts.
FR:Evitez tout frottement entre l'intérieur du cadre latéral et le cadre de sommier lors de la
premiére descente du lit. Si tel est le cas, cela signifie que le lit n'est pas installé
correctement, veuillez ajuster Iégerement les pieds du lit vers la gauche ou la droite tout en
gardant la téte de lit immobile

Page 18 0f 24




DE:Wenn Sie die Lichter nicht erfolgreich arbeiten lassen
konnen, Uberprifen Sie bitte die Folgendes:

1. Bitte Uberprifen Sie die Fernbedienung. Sie missen die
Fernbedienung abreifRen Plastikseptum vor Gebrauch.

2. Lassen Sie die Fernbedienung nicht zu weit vom Empfanger
entfernt sein Es gibt kein Hindernis zwischen ithnen.

3.Bitte beachten Sie, dass die Fernbedienung fur den Transport
keine Batterien enthalt. Das Batteriemodell lautet: CR2025

FR: Si vous ne parvenez pas a faire fonctionner les lumiéeres
correctement, veuillez vérifier les points suivants?:

1. Veuillez verifier la teléecommande. Vous devez retirer le
septum en plastique de la télécommande avant utilisation.

2. Ne laissez pas la télécommande étre trop éloignée du
récepteur. Il n"y a aucun obstacle entre eux.

3. Veuillez noter que la télécommande ne contient pas de piles
pour le transport. Le modele de batterie est?: CR2025

UK: If you can"t make the lights work successfully, please
check the following:

1. Please check the remote control. You need to tear off the
remote plastic septum before use.

2. Don"t let the remote control be too far from the receiver
There 1s no obstacle between them.

3.Please note that the remote control does not contain
batteries for transportation. The battery model i1s: CR2025

Page 19 0f 24


qzuser
Highlight

qzuser
Highlight

qzuser
Highlight


GB-

DE
FR
IT
ES

NOTE: The batter
Model: CR2025 3.

)(/in the remote control requires you to purchase and install it yourself.

HINWEIS: Die Batterie in der Fernbedienung missen Sie selbst kaufen und installieren

~ Modell: CR2025 3.V

REMARQUE : la
~ Modeéle : CR202

gilgevde la télécommande doit étre achetée et installée par vos soins.

NOTA: la batteria del telecomando deve essere acquistata e installata autonomamente.
~ Modello: CR2025 3.V

NOTA: La

ila del mando a distancia debe comprarla e instalarla usted mismo
~ Modelo CR2025 3.V

@

Sk

@@
©

0]0]0;
©O®
@O
OO®

@

arempey B

pLosern - LGOENN

‘oueN fueduog l

TSCHASGSYZ 01 004

TSTHA: 9o
Jeljonuod 9y'g | =

B0 SouaAde3

Tomenn LGOENN
‘uey fueduog
| TSCHASBSYE 01004
T52-HA18poN
BIOID9YT

) —>

]
e g unbbug
fedur)

sy

TUHSKSVE 01004 §
TZHABRON
Je0u0I9YT

160ENN

T LGOENN

"oy huedwo)

i1 00 sowesse3 lsos"n

‘@sempie uoy uenbbuog

TSEHASESVE “01 904 “awey Auedwog
ZSEHA PN STHASESYZ ‘01004
AEj0Ru0I 9§ g ZSZ-HA:19Pop
o 18108U03 95’7 —
ot FBOENN P00 Soonaey
annpiy oy wndfuog unpioguiteg  FBOENN
| mss;?m b <'\:| ‘oue fueduoy l
ZSTHA:19PO TSTHAS6SYZ 01 004
I9jjoiu0ogyz ST HA [8PON

Jafjonuod gz B

Page 20 0f 24




LED light

If you can't let the lights work successfully,please check the
following:

1.Please check the direction of the connect,try it in the opposite
direction,according to the following picture.

2.Please check the remote control,it need you to tear down the
plastic septum before use it.

3.1f one of the colors is not bright, please check whether the four
wires in the plug are skewed, and move the main line to make the
four wires flush.

(LED-Licht)

(Wenn Sie die Lampe nicht erfolgreich funktionieren lassen,
Uberprifen Sie bitte Folgendes:

1. Bitte Uberprifen Sie die Verbindungsrichtung und versuchen Sie
in der entgegengesetzten Richtung gemaf der Abbildung unten.

2. Bitte Uberprifen Sie die Fernbedienung und entfernen Sie die
Kunststoffmembran vor Gebrauch.

3. Wenn eine der Farben nicht hell ist, Gberpriifen Sie bitte, ob die
vier Drahte im Stecker schief sind, und bewegen Sie die
Hauptleitung, um die vier Drahte biindig zu machen.)

LED light strip electronic
accessories list

S

\

Unplug the battery
separatorof the remote
control before use

—

Remote control

power cord

—_——

There is a QR code at this position
of the power cord, which can be
scanned to download the APP
and operate the LED light strip.

1. Please check the direction of the arrow
2. Please pull the plastic block out of the remote control
3. Please check whether the four wires of the plug are neat

(1. Bitte Uiberprifen Sie die Richtung des Pfeils
2. Ziehen Sie bitte den Kunststoffblock von der Fernbedienung
3. Bitte Uberpriifen Sie, ob die vier Drahte des Steckers biindig sind)

Operation Instructions of Controller
(Betriebsanleitung des Reglers)
I .Specifications:
( Spezifikationen)
Supply voltage: DC12V
(Versorgungsspannung: DC12V)

Working temperature: -20-60 C
(Arbeitstemperatur:-20-60 C)

Product size:L62xW35xH23mm
(ProduktgréRe:L62xW35xH23mm)

Package size:L95xW68xH45mm
(PackungsgroRe:L95xW68xH45mm)

Gross weight:57g
(Bruttogewicht:57g)

Net weight:42g
(Nettogewicht:42g)

Output:Three CMOS drain- open output Connecting Mode: Common anode
(Ausgabe:Drei CMOS Drain- Open AusgangMs (Verbindungsmodus:Gemeinsame Anode)

Max load current: 2 A each color
(Maximaler Ladestrom:2 A pro Farbe)

1I.Control Method:

Adopt RF remoter to control the led controller, which has 24 buttons,the function of each button as
the table below:

(Kontrollmethode:

Nehmen Sie RF-Fernbedienung an, um den gefiihrten Controller zu steuern, der 24-Tasten

hat, die Funktion jeder Taste wie die Tabelle unten:)

Brightness +(Speed up)| Brightness - (Speed down) Off On

(Helligkeit +(Beschleunigung)) [(Helligkeit - (Geschwindigkeit runter)) (Aus) (Ein)
Static red Static green Static blue Static white
(Statisches Rot) (Statisch gruin) (Statisch blau) (Statisch weiB)

Static orange Static pea green Static dark blue 7 color jumpy change

(Statisches Erbsengriin) (Statisch dunkelblau)

(7 Farbwechsel)
All fade out&fade in

(All fade out&fade in)
7 color fade change

(7 Farbwechsel)
3 base color jumpy

(Statisch orange)

Static brown
(Statisch braun)

Static dark yellow Static cyan
(Statisch dunkelgelb)
Static yellow
(Statisch gelb)
Static straw yellow

(Statisches Strohgelb)

(Statisches Cyan)
Static light blue

(Statisch hellblau)
Static sky blue

Static pink
(Statisch rosa)
Static purple
(Statisches Lila)

(Statisches Himmelblau) (3 Grundfarbe nervés)

1II.Panel specification and connecting drawing as follows:
(Plattenspezifikation und Anschlusszeichnung wie folgt)

W +
®OOW +

IV.Warning:

1.Supply voltage of this product is usBsVv never connect to DC24V or AC220V.

2.Never connect two wires directly in case of short circuit.

3.Lead wire should be connected correctly according to colors that connecting diagram offers.

4. Warranty of this product is one year, in this period we guarantee replacement or repairing with no
charge,but exclude the artificial situation of damaged or overload working.

(Warnung:

1.Supply Spannung dieses Produkts ist usBsv niemals mit DC24V oder AC220V verbinden.

2.Nie verbinden Sie zwei Drahte direkt im Falle eines Kurzschlusses.

3.Lead Draht sollte entsprechend den Farben richtig angeschlossen werden, die
Verbindungsdiagramm anbietet.

4 Warranty dieses Produkts betrégt ein Jahr, in diesem Zeitraum garantieren wir Ersatz oder
Reparatur ohne Gebdihr, schlielen aber die kiinstliche Situation der beschadigten oder Uberlasteten
Arbeit aus.)

THIS PRODUCT CONTAINS A BUTTON BATTERY

If swallowed, a lithium button battery can cause severe or
fatal injuries within 2 hours.

Keep batteries out of reach of children.

If you think batteries may have been swallowed or placed
inside any part of the body, seek immediate medical attention.

Dieses Produkt enthalt eine Knopfbatterie

Beim Verschlucken kann eine Lithium-Knopfbatterie innerhalb von
zwei Stunden schwere oder todliche Verletzungen verursachen.
Bewahren Sie Batterien aulRerhalb der Reichweite von Kindern auf.
Wenn Sie glauben, dass Batterien verschluckt oder in einen Teil des
Korpers gelegt wurden, suchen Sie sofort einen Arzt auf.

Page 21 0f 24




CERTIFICATE ; =
TUVRheinland

of Conformity
Low Voltage Directive 2014/35/EU

Registration No.: AN 50591913 0001

Report No.: CN22ZPS7 002
Holder: XIAMEN INVCY ELECTRONICS
CO.,, LTD.

1F/3F-5F,BLDG 5,
No0.943-5,Tonglong 2nd Rd,
Torch Hi-tech Industrial Zone
(Xiang'an)Xiamen

361000 Fujian

P.R. China
Product: Battery Charger
Identification: Type Designation: IVPxxxx-yyyyaz (Invcy)
For detail of the variables xxxx, yyyy, a & z, refer

to TUV Rheinland license S 50540769 page 0001.

Semata it N na

Remark: Issued in conjunction with above TUV Rheinland
license S 50540769 pages 0001-0003.

This certificate of conformity is based on an evaluation of a sample of the above mentioned product.
Technical Report and documentation are at the Licence Holder's disposal. This is to certify that the
tested sample is in conformity with Annex | of Council Directive 2014/35/EU, referred to as the Low
Voltage Directive. This certificate does not imply assessment of the series-production of the product
and does not permit the use of a TUV Rheinland mark of conformity. The holder of the certificate is
authorized to use this certificate in connection with the EC declaration of conformity according to
Annex IV of the Directive.

Certification Body

4

Dipl.-Ing. Th. llling

bate 02.02.2025

TUV Rheinland LGA Products GmbH - TillystraBe 2 - 90431 Niirnberg
Page 220f 24

( € The CE marking may be used if all relevant and effective EC Directives are complied with. ( €

10/020d 04.08 ®  TUV, TUEV and TUV are registered trademarks. Utilisation and application requires prior approval



Certificate of Conformity
- .-:;--.;-_{Qlf"a}-r A -

Cartificate Numbear : QQT20240T105EC

Applicant : Shenzhen ShiKkeShu Photoelectric Co., Ltd

Address : 1B0B, Building 11, Tiedong Logistics District, Mo. 3, Ping'an
Aveanue, Pinghu Community, Pinghu Streat, Longgang District,
Shenzhan

Manufacturer : Bhenzhen ShiKeShu Photoelectric Co., Lid

Address : 1808, Building 11, Tiedong Logistics District, No. 3, Ping'an
Avenue, Ping hu Community, Pinghu Street, Longgang District,
Shenzhen

EBrand Name : MIA

Product : 24 Key LED Controller

Model : SK5-D5-03 SK5-D5-04, SK5-D5-05, SKS-BT-10, SK5-JZ-01, SK5-
JZ2-02, BKS-JZ-14, SKS-JZ-15 SKS-JZ-13, SK8-JZ-17, SK5-JZ2-18,
SKS-JZ-29, SKS- 709, SKS-IZ-22 SKS-IZ-2T, SKS-IZ-25 SKS-
JZ-3T7, SK5-JZ-38, SK5-JZ-39, SK5-PJ06, SKS-PJOT

Essential requirement | Applied Standards Report Number

Art.3A(a) Safety EM IEC 62368-1:2020+A11:2020 QaT202407105-015R

Art3A(a) Health EMNIEC 62479:2010, EN 50663:2017 QQT202407105-02ER

Art3A(b) EMC ETSI EM 301 4891 V2.2.3 (2019-11) QQT202407105-03ER

ETSI EM 301 489-3 V2.3.2 (2023-01)

EMN 55032:2015+A11:2020+A1: 2020

EM 55035:2017+A11:2020

Art32 Radio ETSI EMN 300 220-1 V3.1.1 (2017-02) QQT202407105-04ER

ETS1 EM 300 220-2 V3.2.1 (201 8-08)

The EUT described above has been tested by us with the listed standards and found in

compliance with the council Radio Equipment Directive (RED) 2014/53ELU. It is possible to

use CE marking to demonstrate the compliance with this RE Directive.

The certificate applies to the tested sample above mentioned only and shall not imply an

assessment of the whole production. It is only valid in connection with the test report

number as above listed.

Bhenzhen Qiging Technalogy Co., Lid.
Room.B02, Zhongcheng Sci-tech Building, No.543, Jinbi Road, Biling Strest,
Pingshan District, Shenzhen, Guangdong, China

¢ wwnwgo-lab. com Email: Serviecfgg-lab.com

P —=TZERRTT 4




Shenzhen ZKT Technolegy Go., Ltd.

’: 1/F, Na. 101, Building B, No. 6, Tangwel Community Industrial Avenue,
. Fuhai Street, Bac'an District, Shenzhen, China
u )
. L
g Certificate of Compliance
EU Certificate Number: ZKT-2403202772C
H|l[] Certificate’ s : Shenzhen Pinchengxin Technology Co., Ltd
Holder 3rd Floor, Bth Building Yuanling Industrial Zone, No. 39
| Yuanlingcun Road, Shiyan Street, Bao'an District,
i Shenzhen
Ay
g Manufacturer : Shenzhen Pinchengxin Technology Co., Ltd
— 3rd Floor, 8th Building Yuanling Industrial Zone, No. 39
1:' Yuanlingcun Road, Shiyan Street, Bao'an District,
@ Shenzhen
O Trade Mark : NIA
I
Product : 5050 RGB LED Strip Lights with Bluetooth App Controller
{|||||]] and 2.4G Remote
Model(s) : 5050 RGB LED Strip Lights

B8R

Test Standard : Art.3.1(a) Safety EN IEC 62368-1:2020+A11:2020

Art.3.1(a) Health ENIEC 62311:2020
EN 50665:2017

Art.3.1(b) EMC ETSI EN 301 489-1V2.2.3 (2019-11)
ETSI EN 301 489-17 V3.2.4 (2020-09)

Art.3.2 Radioc ETSI EN 300 328 V2.2.2 (2019-07)
This Atlestation of Compliance is issuad on a valuntary basis for alectrical equipmant balow tha

voltage limits of Radio Equipment Directive (RED) 2014/5¥EU. The essential requirement are
fulfilled accordingly based on the technical specifications applicable at the time of issuance.

Page 24f 24

This Certificate of Conformity is based on single evaluation of the submitted sampla{s) of the above mentioned
product, It does not imply an assessment of the whole product and relevant . Directives 1o be observed,
® +56-400 000D 2970 2 +86-T755-22336688 [ zki@zkidab.com  # www zkl-lab.com

Certificate — Ceptudukar —




